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Problem 1 (20%) '

Late in 1992, the management of Abbott, Inc. announced its
intent to dissolve the company. The Chief Executive Officer owns
35 percent of Abbott’s stock. Although a plan has not yet been
presented to the shareholders, it will probably be approved.
Management has been considering the dissolution for some time,
possibly as 1long as six months. However, 1little has been
formalized beyond obtaining ideas from investment bankers as to how
much the assets might be worth. No real bids have been received
for parts of the company. Management believes that approximately
50 percent of the company is worth substantially more than book
value. However, management has not done a complete analysis nor
performed an analysis which might support an alternative
presentation of information.

The 1992 financial statements of Abbott have been prepared
assuming that the company is a going concern. Management intends
to issue these financial statements on the historical cost basis,
but wonders if an alternative basis might be more appropriate.

Required: (Hint: you may employ the conceptual framework of
financial accounting and the related auditing standards to answer
the following questions.)

1. What basis of presentation should be used in preparing
the 1992 financial statements? Why? State your
reasoning in detail.

2. As the auditor of Abbott, Inc., what type of opinji.on
should you issue on the 1992 financial statements? ‘'How
do you disclose the plan of your client?
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Problem 3 (20%)

You have decided to use Probablility Proportional to Size (PPS) sampling,
gometimes called dollar-unit sampling, in the audit of a client’s accounts
receivable balance. Faw, if any, misstatements of account balance overstatement

are expected.
You plans to use the following PPS sampling table:

TABLE
Reliability Factors for Overstatements
Number of Risk of Incorrect Acceptance
Overstatements 1s 5% 10% 15% 20%
0 4.61 3.00 2.31 1.90 1.61
1 6.64 4.75 3.89 3.38 3.00
2 8.41 6.30 5.33 4.72 4.28
3 10.05 7.76 6.69 6.02 5.52
4 11.61 9.16 8.00 7.27 6.73
Required:
a. 1dentify the advantages of using PPS pampling over classical
variables sampling.
b. Calculate the sampling interval and the sample size you should use
given the following information:
Tolerable misstatements $15,000
Risk of incorrect acceptance 5%
Number of misstatements allowed [+]
Recorded amount of accounts receivable $300,000

Note: Requirements b. and c. are not related.

c. Ccalculate the total projected misstatement if the following three
misstatements were discovered in a PPS sample:
Recorded Audited Sampling
amount amount interval
1st misstatement $400 $§320 $1,000
2nd misstatement 500 o) 1,000
3rd misstatement 3,000 2,500 1,000
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An accountant who is not independent of a client
is precluded from issuing a
-2, Report on management advisory scrvices.
b. Compilation report on historical financial

statements.

c. Compilation report on prospective financial
stalcments.

d. Special report on compliance with contrac-
tual agreements.

2 . ACPA n public practice must be independent in
fact and appcarance when providing which of the

following services?
Compilation Compilation
Preparation ofa of personal
ofa Jinancial financial
fax returs forecast Statements
a. " Yes No No
b. No Yes No
c. No No Yes
d. No No No

3 . The risk that an auditor's procedurcs will Jead to
the conclusion that a material error does not exist in
an account balance when, in fact, such error docs ex-
ist is referved to as

Audit risk.

Inhcrent risk.

Control tisk.

Delcction risk.

angop

« If specific information comes to an auditor's at-
tention that implies the existence of possible jllegal
acts that could have a maledal, but indirect effect on
the financlal statements, the auditor should next

a. Apply audit procedurcs specifically dirccted
to ascertaining whether an illegal act has oc-
curred.

b. Seck the advice of an informed expert qual-

-Jfied to practice law as to possible contin-
gent liabilitics.

c. Report the matter (o an appropriate level of
management at Jeast one jevel above those
involved.

d. Discuss the evidence with the client's audit
committee, or others with equivalent au-
thority and responsibility.
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£ After obtaining an understanding of an entity's
internal control structure and asscssing control risk,
an auditor may next

a. Perform tests of controls to verily manage-
ment's sssertions that are embodied jn the fi-
nancial statements.

b. Consider whether evidential matter is avail-
able to support 2 further reduction in the as-
sessed level of control risk.,

€. Apply analytical procedures as substantive
tests to validate the assessed level of control
risk.

d. Evaluate whether the internal control struc-
ture policies and procedurcs detected mate-
rial misstatements in the financial state-
ments.

FA Which of the following intcmal control proce-
dures would most likely allow for a reduction in the
scope of the auditor’s tests of depreciation expensc?

a. Revicw and approval of the periodic equip-
ment depreciation cotry by a supervisor who
does not actively participate in its prepara-
tion,

b. Comparison of cquipment account balances
for the current year wilh the current-ycar
budget and prior-ycar actual balances.

¢ Review of the miscellancous income account
for salvage credits and scrap sales of par-
tially depreciated equipment.

d.  Authorization of payment of vendors' in-
voices by a designated cmployce who is in-
dependent of the equipment receiving func-
tion,

7 . Whichof the following circumstances would
most likely cause an auditor to suspect that material
irregularities exist in a client's financial statements?

8, Property and cquipment are usually sold at a
loss before being fully depreciated,

b. Significantly fewer responses to confirma.
tion requests are received than expected.

. Monthly bank reconciliations usually include
several in-transit ftems.

d. Clerical errors arc listed on an EDP-gener-
ated exception report,
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a,
b,
c.

d.

B & o K&\ +

"+ An auditor did not obscrve a client's taking of
beginning physical inventory and was unable to be-

auditing procedures. Assuming no other scope limi-
tations or feporting problems, the auditor could issye
an unqualified opinion on the current year's financia]
statements for

The balance shegy only.

The income statement only.

The income and tetained eamings statements
only.

All of the financia) Statements.




